
 لودج
 مكر

 ‏١

 ميزوت
 نيينيطسلفلا

 نيلغتشملا
 بسح

 ةئبملا
 سلجلاو

 ةنم
 ‏149٠

( 
 فالآلاب

) 

 ةفضلأ
 ةئبرغلا

 عاطق
 ةرغ

 ةبلبما
 روكد

 'ثانا
 عومجملا

 روكذ
 تا

 عومجلا
 روكذ

 ‏١
 نبملا-

 ةينقتلا
 ةرخلاو

 هوك
 وع

 مرإال
 ة"رال

 ا؟واس
 ةرهد

- 

 ؟
 نوريدملا-

 نويرادالا
 توفظرملاو

 ‏ ةيتكلاو
 سره

 موال
 ‏ رال

 رجا
 ا

 9و1
 ممم

 تا«
 لامع

 ةراجتلا
 ؛

 و
 ءالك

 ةعابو
 اغرو

 ءرك
 رجم

 ‏١١)
 مركلا

 را"
 ميرال

 معلا

 ع
 ثولماعلا

 يف
 لقثلا

 تالصاوملاو
 خرط

 هس
 رالا

0 
 ابوها

 الولاد
ل
ل
 

 هه
 نوصاصتغخا

 ‏ تامدخلل
 هرج

5
3
 

54 
 4ر4

 .ءرال
 14دك

55-5 

 نولماعلا
 يف

ا
ل
ب
ئ
ا
ء
 

 رجاناو
 ذكرك

 ءرزل
 ‏3” ”ءرما

 ةالوكا
 اس

 الورك

 نولماعلاوثرمقرملا
 يف

 عنصملا
 لاعو

 ياتنالا
 رك

 سر
 ‏ ةالرالا

 مرو
 ارم

 كارل
 همم

 به
 ترعرازما

 وداصو
 كنسلا

 ‏ يفاثمُلر
 رلور»

 زهره
 ةكرال

 زالرك
 ءرف

 ذهت+
 ءيم

ا
س
 

 ريغ
م
ي
ن
 

-
 

م
 

-
 

 سدح
| 

ن
ا
 

 يع
ل
 

0 
5 

 عيمج
 نبملا

 ارم
 9ك

 4!1رك
 مكرك

121 
 مخرالا

 هدم

* 
 ريتمي

 نولماعلا
 يف

 لقللا
 تالصاوملاو

 نبض
 نويصاصتخا

 تامدخلا
 يق

 نانبل
 ةيروسو

. 

 .كاتبل
 ثاثا

 ‏١
 ومحا

2 

** 
 مضت

 تاءاصحالا
 ةيتيوككلا

 نراماعلا
 يف

 لقنلا
 تالصاوملاو

 ىلإ
 ةئفلا

9 
 نومقرحلا

 نولماعلاو
 يق

 ,عناصملا

*** 
 هذه

 ةئذلا
 ةمومضم

 ىلإ
 ‏ ةثفلا

 ا,
 لامع

 جاتنإلا
 يف

 لك
 نم

 نانبل
 ةيروسو

 تيوكلاو
, 

 هيروس

٠
د
‏
 

ل
ق
و
 

 "رق
 ءرال

 "وق
 «هوخ

 كده
 هر

 ‏2١رك
 هرال

ا
م
 

 من1

 رك
 +هرع

«
ر
ش
؟
 

 ونه
و
ر
 

 اقام
 انعنرت

 نمطسلف
 ةلثحملا

!155 
 روكذ

 ثاثا“
 عومجلا

ل
 

ا
ن
 

 ةركرا

 خلك
 بتات

ل
ذ
 

 ؟ره
 هوإ

 ارك

 اره
 هرم

 ةدإل

د
 

 غرم
 اوآ

 الدم
 *ءرل

 الر

 اليا
5
م
 

 الرالا

ا
 

 مدا
 1ءوك

0
 

0
 

 ؛هرغ
 رال

تارو


